
Panzer

Artillerie

Legende:

Wehrmacht

Rote Armee
Reserven in
der Tiefe

Heeresgruppe A Heeresgruppe Süd Heeresgruppe Mitte Heeresgruppe Nord

Divisionen

12

30 + 19 = 49

1 13

67

66 + 39 = 103

4329

147 + 23 = 170122 + 26 = 148

67 + 27 = 94 7 + 27 = 3468 + 36 = 104

801

2 266 + 905
= 3 171

209 + 843
= 1 052

1 726 + 1 146
= 2 872

3 479 2 4071 601

5 026 + 955
   = 5 981

6 279 + 845
= 7 124

2 793 + 1 800
= 4 593

8

49

keine

8 + 1 = 9

77

147 + 57 = 204

576

1 212 + 780
= 1 992

1161

Panzer-
Divisionen

1 251 000 710 000

278 500
+ 181 500
= 460 000

  1 391 000 

281 000 822 000

Quelle: OKH/Org.Abt., Nr. 1104/43 g.Kdos. (Chefs.), 14.8.1943, BA-MA, RH 2 / v. 936.
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Soldaten

+    491 000
 734 000

= 1 225 000
+    322 500
= 1 713 000

   1 663 500
    279 500
  1 943 000
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